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Plots of (a) P versus ¥V and (b) PV versus P for 1 mole of N, gas at constant temperature.

Figure 1.6
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Volume versus Pressure: A Molecular View
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Frozen: Mass & Temp.
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Mass Frozen: Mass & Press.
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Volume versus Temperature: A Molecular View

Low kinetic energy High kinetic energy
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L 8 egee GslE - Jl ol sla J8-1-6 s

aza ’\ / LAJGL’AJAQ clgu

= '—\P B '5 \—‘ (ke sl

LQJJA K| KT
A
P . ¢ X
(V- 31K (RS b sldal g
R = 0.0821atm L/ mol K £~ 7N
R = 8.314 Pam3?/ mol K i e .
R = 8.314J / mol K a =
R =82.06 atm cm?® / mol K . o
R = 1.987 cal / mol K



J})\S—\AJ@GA}AG uﬁlﬁ- L.“DJJ‘ &u)@'1'6w¥

PN PPN IV EOT
PV=mRT/M » M=mRT/PV

B A8 50 2 Mo
iy Bayxm mo

*PV=mRT/M 0=m/V=PM/RT L\ P=pRT/M
g M |y ) Sl Likale
https://phet.colorado.edu/en/simulation/gas-properties®




d‘ Dﬁg‘ Lg\.é»j\g iji,q - d‘ bJﬂ‘ Lsuj\g_l_6 ™ :

S el p o L g sana by il ) WS ) daslie S S L 1o 5illa 5 5 (sl L (51 6
A0S e Jldl Laa leaa a1 aaa e K1 3K

*P =P TP, P+ . P V=nRT Pi i )8 s L

) Ptot V - ntot RT:

-x.=P/P_=n/n_, s S 5 S S ada
F, = x;P any gas mixture



